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. Describe the sequence of events that take place during accommodation

for near vision. (15%)

. Describe the spread of excitation from the SA node through the rest of

the heart. (15%)

. Describe the pathways by which increased arterial Pcq, stimulates

ventilation. What pathway is more important? (15%)

. How do the kidneys respond to the presence of an acidosis or alkalosis?

(20%)

. What are the consequences of blocking the common bile duct with a

gallstone? (15%)

. Describe the mechanisms and messengers that contribute to parturition.

(20%)




